REERET—2(2016FEERK)

(3% 3 5) Z B W= (£35)
—— — T > =F? = I LA
) Y S S S— o g B2 7 T M R R W P
¥ AMVECERF e R 0 1 1 21. 1 — 21.1 2 — 10.6 (2N)
SRR IR 1 0 1 20. 0 20. 0 — 1 100. 0 20. 0 (1A)
R F R 1 1 2 31.8 10.9 20.9 3 33.3 10.6 (BAN)
FER SR 2 1 3 62. 4 2. 0 10. 3 3 66. 7 20.8 (1A)
SO 64 8 72 1,471.4 20. 5 20. 1 80 80. 0 18. 4 (16 A)
R D 39 5 44 904. 0 20.7 16.9 48 81. 3 18. 8 CIN)
FAE 86 9 95 3, 236. 6 33.1 43.7 64 100. 0 50.6 [V (140)
Fh D 34 1 35 748.6 19. 8 54. 3 40 85. 0 18.7 (6N)
VS 35 2 37 795.9 20.7 35.9 43 81.4 18.5 8A)
BN 25 1 2 553. 0 21.3 20. 5 27 92.6 20.5 2A)
23 2 =7 4 RS 28 5 33 750. 1 21.5 29. 4 42 66. 7 17.9 (140)
R 25 4 29 552. 2 19. 1 18.9 33 75.8 16.7 8A)
TR AN L 22 21 43 933. 6 19. 6 23.9 30 73.3 31,1 [MPTERBE (8A)
i%fgjfli‘/a‘/?g 39 3 42 798. 8 19.0 18.9 45 86. 7 17.8 (6A)
g%gx?ﬁ4 - 0 7 7 135. 3 — 19.3 14 0.0 9.7 (14.1)
%%iﬁﬁﬁ%f*/ 2 3 5 92.6 18.0 18.9 8 95.0 11.6 (6A)
%fg—jfli‘/a‘/ﬁ%ﬂ 0 2 2 38.8 — 19.4 4 — 9.7 (4N)
VRS R 13 2 15 337. 3 20. 2 37.6 19 68. 4 17.8 6A)
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(% 3 5) HEMIE=E (£35)
TR - R HE I 10 0 10 192.3 19.2 — 10 100. 0 19.2 (OAN)
S A D 0 12 12 276.7 — 23.1 46 — 6.0 (46 \)
gii?i;if@jiﬂy 0 4 4 172. 2 — 43.0 46 — 3.7 (46 \)

3t 426 92 518 12,124. 7 20. 6 26. 1 608 70. 1 19.9 (220 \)
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